P ARSI

I REPC B EE

27.39

REZLRT

12.33

| REPCF RIBLEHIE

261

s

11.00

24.20

€16

9.20

REPC04-M5
REPC04-01
REPC04-02
REPC06-M5
REPC06-01
REPC06-02
REPC06-03
REPC06-04
REPC08-01
REPC08-02
REPC08-03
REPC08-04
REPC10-01
REPC10-02
REPC10-03
REPC10-04
REPC12-01
REPC12-02
REPC12-03
REPC12-04
REPC14-02
REPC14-03
REPC14-04
REPC16-02
REPC16-03
REPC16-04
REPC16-06

4

10

12

14

16

R1/8
R1/4
M5
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R3/4

7
8
3.5
T
8
9
10
7
8
9
10
7
8
9
10
1
8
9
10
8
9
10
8
9
10
12

18.5
19.5
19
20
21
20
21
22
23,9
2209
21
22
25.5
26.5
25
23
27
28
26.5
24
29,5
30,5
28
31,5
32,5
29.5
29

10
14
12
12
14
17
21
14
14
17
21
17
17
17
21
19
19
19
21
21
21
21
24
24
24
27

= D%
I3 I N O

REPCF04-M5
REPCF04-01
REPCF04-02
REPCF06-M5
REPCF06-01
REPCF06-02
REPCF06-03
REPCF06-04
REPCF08-01
REPCF08-02
REPCF08-03
REPCF08-04
REPCF10-01
REPCF10-02
REPCF10-03
REPCF10-04
REPCF12-01
REPCF12-02
REPCF12-03
REPCF12-04

10

12

R1/8
R1/4
M5
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2

9.5
5.5

9.5
10.5
1.5

9.5
10.5
11.5

9.5
10.5
1.5

9.5
10.5
10.5

19.5
22
23.5
20.5
23.5
25
26
27
24
25,9
26.5
27.5
25
27
28
29
27
28.5
30
31

12
15
12
12
15
19
24
14
15
19
24
17
17
19
24
19
19
19
24



P ARSIN BRI K R
| REPMF RiRMIELEE
Lo el e e e e

REPMF04-M5 M12*1
REPMF04-01 4 R1/8 8 24 14 14 M12*1
REPMF04-02 R1/4 9.5 27,5 15 14 M12*1
REPMF06-M5 M5 5.9 25.5 15 17 M14*1
REPMF06-01 R1/8 8 25,5 15 17 M14*1
REPMF06-02 6 R1/4 9.9 295 15 17 M14*1
REPMF06-03 R3/8 10.5 30 19 17 M14*1
REPMF06-04 R1/2 11.5 31 24 17 M14*1
REPMF08-01 R1/8 8 26 17 19 M16*1
REPMF08-02 8 R1/4 9.5 26 17 19 M16*1
REPMF08-03 R3/8 10.5 30.5 19 19 M16*1
H1 H2 REPMF08-04 R1/2 11.5 31.5 24 19 M16*1
A = REPMF10-01 R1/8 8 27.5 21 24 M20*1
y m REPMF10-02 R1/4 9.5 27.5 21 24 M20*1
I ] S| 8|  REPMF10-03 1o R3/8 10.5 28 21 24 M20*1
R - m: S| REPMF10-04 R1/2 11.5 29 24 24 M20*1
7 - REPMF12-01 R1/8 8 28 24 27 M22*1
™~ 17.84 — REPMF12-02 5 R1/4 9.5 29 24 27 M22*1
REPMF12-03 R3/8 10.5 30 24 27 M22*1
39.25 REPMF12-04 R1/2 10.5 33.5 24 27 M22*1 =
zh
=
3k
REPLO04-M5 4
REPL04-01 4 17 17.5 11 7 R1/8 10
REPL04-02 17 19.5 11 8 R1/4 14
REPL06-M5 20 21.5 13 4 M5 10
REPL06-01 20 20 13 7 R1/8 10
REPL06-02 6 20 22 13 8 R1/4 14
REPL06-03 20 23.5 13 9 R3/8 17
REPL06-04 20 25 13 10 R1/2 21
REPL08-01 22 27.5 15 7 R1/8 12
REPL08-02 22 24 15 8 R1/4 14
REPL08-03 ’ 22 25.5 15 9 R3/8 17
1650 REPL08-04 22 27 15 10 R1/2 21
T } 818 REPL10-01 25.5 28.5 18.5 7 R1/8 15
}w' - REPL10-02 Lo 25.5 25.5 18.5 8 R1/4 15
) | | REPL10-03 25.5 26.5 18.5 9 R3/8 17
o ‘ L REPL10-04 25.5 28 18.5 10 R1/2 21
A H REPL12-01 29 30.5 21 7 R1/8 17
§ /LL REPL12-02 5 29 31.5 21 8 R1/4 17
REPL12-03 29 28.5 21 9 R3/8 17
REPL12-04 29 30 21 10 R1/2 21

262



PARSIN BREE KR
I REPLF LA RIBIZ B
NI ENEE

REPLF04-M5 18.5
REPLF04-01 4 18 22.5 11 8 R1/8 12
REPLF04-02 18 24 11 9.5 R1/4 15
REPLF06-M5 20 20.5 13 4.5 M5 12
REPLF06-01 20 24.5 13 8 R1/8 12
REPLF06-02 6 20 26 13 9.5 R1/4 15
REPLF06-03 20 27 13 10.5 R3/8 19
REPLF06-04 20 28 13 11.5 R1/2 24
REPLF08-01 22 24.5 15 10.5 R1/8 14
REPLF08-02 o 22 28 15 9.5 R1/4 15
REPLF08-03 22 29 15 10.5 R3/8 24
| 1650 | REPLF08-04 22 30 15 11.5 R1/2 19
W }8 3 REPLF10-01 26 27.5 18.5 8 R1/8 17
[ ‘ }QI:-; REPLF10-02 " 26 27.5 18.5 11 R1/4 17
@ REPLF10-03 26 32 18.5 10.5 R3/8 19
5 REPLF10-04 26 33 18.5 11.5 R1/2 24
S ‘ REPLF12-01 28 29.5 21 8 R1/8 19
% § REPLF12-02 5 28 29.5 21 12.5 R1/4 19
DY /A REPLF12-03 28 34 21 10.5 R3/8 19
R REPLF12-04 28 35 21 11.5 R1/2 24

1 =3
e AN EEEE

REPB04-M5 21.5

REPB04-01 4 25 36 11 7 R1/8 10

REPB04-02 26 36 11 8 R1/4 14

REPBO06-M5 23.5 40 13 3.5 M5 12

REPB06-01 27 40 13 7 R1/8 12

REPB06-02 6 28 40 13 8 R1/4 14

REPB06-03 29 40 13 9 R3/8 17

REPB06-04 30.5 40 13 10 R1/2 21

REPB08-01 29 44 15 7 R1/8 14

REPB08-02 o 30 44 15 8 R1/4 14

REPB08-03 31 44 15 9 R3/8 17

REPBO08-04 32.5 44 15 10 R1/2 21

REPB10-01 32 52 18.5 7 R1/8 17

REPB10-02 Lo 33 52 18.5 8 R1/4 17

REPB10-03 34 52 18.5 9 R3/8 17

REPB10-04 35.5 52 18.5 10 R1/2 21

‘ 36.00 REPB12-01 34 56 21 7 R1/8 19
! ! REPB12-02 05 35 56 21 8 R1/4 19
W REPB12-03 36 56 21 9 R3/8 19
,8I§ REPB12-04 37.5 56 21 10 R1/2 21

H{ P REPB14-02 37.5 62 23 8 R1/4 22
i~ REPB14-03 14 38.5 62 23 9 R3/8 22

= @ @ REPB14-04 39.5 62 23 10 R1/2 22
FS (T Tw REPB16-02 39.5 66 25.5 8 R1/4 24
- REPB16-03 - 40.5 66 25.5 9 R3/8 24

3 l PR REPB16-04 41.5 66 25.5 10 R1/2 24
REPB16-06 43.5 66 25.5 12 R3/4 27

263



P ARSI

REZKLRT

| REPD TEUBLM =58

12.00
M
I
§ @ @ A 8.00
}{ -
i i,
43.10

| REPX YRUIB =3E

la

11.57

39.17

7.64

s
|

REPD04-M5
REPD04-01
REPD04-02
REPD06-M5
REPD06-01
REPD06-02
REPD06-03
REPD06-04
REPDO08-01
REPD08-02
REPD08-03
REPD08-04
REPD10-01
REPD10-02
REPD10-03
REPD10-04
REPD12-01
REPD12-02
REPD12-03
REPD12-04
REPD14-02
REPD14-03
REPD14-04
REPD16-02
REPD16-03
REPD16-04
REPD16-06

4

10

12

14

16

18
18
20
20
20
20
20
22
22
22
22
26
26
26
26
28
28
28
28
31
31
31
33
33
33
33

39.5
43
44

43.5
47
48
49

50.5

50.5

51.5

52.5
54
58
59
60

61.5
62
63
64

65.5

68.5

69.5

70.5
73
74
75
77

11
11
13
13
13
13
13
15
15
15
15
18.5
18.5
18.5
18.5
21
21
21
21
23
23
23
25.5
25,5
25,5
25.5

7
8
3.5
7
8
9
10
7
8
9
10
7
8
9
10
7
8
9
10
8
9
10
8
9
10
12

R1/8
R1/4
M5
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R3/4

10
14
12
12
14
17
21
14
14
17
21
17
17
17
21
19
19
19
21
22
22
22
24
24
24
27

IIII!!HIIIIIIHHHHHIIIIII’IIIIIII’IIIIIIIIIIIIIII’IIIIIIIIIII

REPX04-M5
REPX04-01
REPX04-02
REPX06-M5
REPX06-01
REPX06-02
REPX06-03
REPX06-04
REPX08-01
REPX08-02
REPX08-03
REPX08-04
REPX10-01
REPX10-02
REPX10-03
REPX10-04
REPX12-01
REPX12-02
REPX12-03
REPX12-04
REPX14-02
REPX14-03
REPX14-04
REPX16-02
REPX16-03
REPX16-04

4

10

12

14

16

405
41.5
40
43.5
44.5
45.5
47
47.5
48.5
49.5
51
51,5
52,5
53.5
55
54
55
56
51
60.
61.
62.
64.
65.
66.

(SRS, NS, B C, RN E, BN, BN,

ll
11
13
13
13
13
13
15
15
15
15
18.5
18.5
18.5
18.5
21
21
21
21
23
23
23
25,5
25,5
25.5

7
8
3.9
7
8
9
10
7
8
9
10
7
8
9
10
7
8
9
10
8
9
10
8
9
10

Rl/8
R1/4
M5
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2
R1/4
R3/8
R1/2

10
14
12
12
14
17
21
14
14
17
21
17
17
17
21
19
19
19
21
22
22
22
24
24
24

264

TAedEE N



PARSIN BREE KR
I REPLL MKLEBREE
EEREDEIENEE

REPLLO4-M5 36,5
REPLL04-01 4 18 40 11 7 R1/8 10
REPLL04-02 18 41 11 8 R1/4 14
REPLLO6-M5 20 38.5 13 3.5 M5 12
REPLLO06-01 20 42 13 7 R1/8 12
REPLLO06-02 6 20 43 13 8 R1/4 14
REPLLO06-03 20 44 13 9 R3/8 17
REPLLO6-04 20 45.5 13 10 R1/2 21
REPLLO08-01 22 44 15 T R1/8 14
REPLL08-02 22 45 15 8 R1/4 14
REPLL08-03 s 22 46 15 9 R3/8 17
REPLLO08-04 22 47.5 15 10 R1/2 21
L&J REPLL10-01 26 47 18.5 T R1/8 17
— }g o REPLL10-02 1 26 48 18.5 8 R1/4 17
[ J,“‘j:: REPLL10-03 26 49 18.5 9 R3/8 17
REPLL10-04 26 50.5 18.5 10 R1/2 21
@ REPLL12-01 28 49 21 T R1/8 19
— REPLL12-02 28 50 21 8 R1/4 19
REPLL12-03 12 28 51 21 9 R3/8 19
REPLL12-04 28 52.5 21 10 R1/2 21
REPLL14-02 30.5 52.5 23 8 R1/4 22
H REPLL14-03 14 30.5 53.5 23 9 R3/8 22
3 REPLL14-04 30.5 54.5 23 10 R1/2 22
= R REPLL16-02 33 54.5 25.5 8 R1/4 24
REPLL16-03 16 33 55.5 25.5 9 R3/8 24
REPLL16-04 33 56.5 25.5 10 R1/2 24

KR
BS

REPHO04-M5 20.5 18.5

REPHO04-01 4 24 24 13 7 R1/8 11

REPHO04-02 25 26.5 13 8 R1/4 15

REPHO06-M5 22.5 18.5 13 3.8 M5 8

REPH06-01 24 24 13 7 R1/8 11

REPH06-02 6 25.5 26.5 13 8 R1/4 15

5 | REPH06-03 29.5 31.5 13 9 R3/8 19

% REPHO06-04 31 36 13 10 R1/2 22
REPH08-01 26 24 15 7 R1/8 11

REPH08-02 28 26.5 15 8 R1/4 15

REPH08-03 8 30 31.5 15 9 R3/8 19

REPH08-04 32 36 15 10 R1/2 22

276 REPH10-01 31 24 21 7 R1/8 11

T H REPH10-02 31.5 26.5 18.5 8 R1/4 15
EDF }'\ - REPH10-03 1o 33 31.5 18.5 9 R3/8 19

g — }315 REPH10-04 35 36 21 10 R1/2 22
Q % REPH12-01 31 24 21 7 R1/8 11
" - REPH12-02 33 26.5 21 8 R1/4 15
= \LJ@ REPH12-03 12 33.5  31.5 21 9 R3/8 19
REPH12-04 35 36 21 10 R1/2 22

265



P ARSIN BRI K R
I RESL LEH 3%
ENEREEEEE R

RESLO4-M5 20.5 3.8
RESLO04-01 4 24 37 13 7.5 R1/8 11
RESL04-02 25 39 13 9.5 R1/4 15
RESLO6-M5 22.5 29 13 3.8 M5 8
RESL06-01 24 37 13 7.5 R1/8 11
RESL06-02 6 25.5 39 13 9.5 R1/4 15
RESL06-03 29.5 46 13 10 R3/8 19
RESLO06-04 31 50 13 11 R1/2 22
RESL08-01 26 37 15 7.5 R1/8 11
RESL08-02 28 39 15 9.5 R1/4 15
RESL08-03 8 30 46 15 10 R3/8 19
P RESL08-04 32 50 15 11 R1/2 5P
i RESL10-01 31 37 21 7.5 R1/8 11
RESL10-02 31.5 39 18.5 9.5 R1/4 15
RESL10-03 10 33 46 18.5 10 R3/8 19
R [ }O S RESL10-04 35 50 21 11 R1/2 22
P4 — k }319, RESL12-01 31 37 21 7.5 R1/8 11
RESL12-02 33 39 21 9.5 R1/4 15
3 RESL12-03 12 33.5 46 21 10 R3/8 19
< R RRSL12-04 35 50 21 11 R1/2 22
q
zh
4
. S
rers wiza EEENETE RN |
5
REPKB6-4-01 4 72.5 7 R1/8
REPKB8-6-01 6 82 21.5 7 R1/8 15 4}
REPKB8-6-02 8 6 83 21.5 8 R1/4 15 14
REPKB10-6-03 10 6 95 25 9 R3/8  18.5 17
REPKB10-8-03 10 8 95 25 9 R3/8  18.5 17
REPKB12-8-04 12 8 109 26.5 10 R1/2 A1 21
REPKB12-10-04 12 10 109 27.5 10 R1/2 21 21
REPKB10-6-02 10 6 94 25 8 R1/4  18.5 17
REPKB10-08-02 10 8 94 25 8 R1/4 18.5 17
REPKB12-8-03 12 8 107.5 26.5 9 R3/8 21 19
© REPKB12-10-03 12 10 107.5 27.5 9 R3/8 21 19
L,
I
O
[H >7,
[A]
O
E——

266



PARSIN RS X5
I REHVSF B4 Fid
NS

REHVSF4-M5
REHVSF4-01 4 52,8 40 7 10 R1/8 11
REHVSF4-02 53,5 40 8 14 R1/4 11
REHVSF6-M5 50 40 3.5 12 M5 13
REHVSF6-01 53.5 40 7 12 R1/8 13
REHVSF6-02 6 54.5 40 8 14 R1/4 13
REHVSF6-03 55,5 40 9 17 R3/8 13
REHVSF6-04 57 40 10 21 R1/2 13
REHVSF8-01 56,5 42.5 14 R1/8 15
REHVSF8-02 5 57,5 42.5 14 R1/4 15
REHVSF8-03 58,5 42.5 17 R3/8 15
REHVSF8-04 60 42.5 10 21 R1/2 15
REHVSF10-01 66.5 42.5 17 R1/8 18.5
= OJ L(J 7.36 REHVSF10-02 . 67.5 42.5 17 R1/4 18.5
ol o { \Wﬂ{ ] REHVSF10-03 68.5 42.5 17 R3/8 18.5
o | { lor- o REHVSF10-04 70 42.5 10 21 R1/2 18.5
‘ ‘ H REHVSF12-01 69.5 44.5 19 R1/8 21
— T REHVSF12-02 75 70.5 44.5 19 R1/4 21
47.62 REHVSF12-03 7i.5 44.5 19 R3/8 21
REHVSF12-04 73 44.5 10 21 R1/2 21

R L

RENHRC04-M5 44.5
RENHRC04-01 4 48 R1/8 7.5 13 12
RENHRC04-02 50.5 R1/4 10 13 14
RENHRC06-M5 45 M5 4 13 8
RENHRC06-01 48.5 R1/8 7.5 13 12
RENHRC06-02 6 51 R1/4 10 13 14
RENHRC06-03 53.5 R3/8 10.5 15 17
RENHRC06-04 55 R1/2 12 15 21
12.00 RENHRC08-01 50.5 R1/8 7.5 15 14
5:00) RENHRC08-02 . 53 R1/4 10 15 14
_— RENHRC08-03 53.5 R3/8 10.5 15 17
RENHRCO08-04 55 R1/2 12 15 21
RENHRC10-01 57 R1/8 7.5 18.5 17
- 1 RENHRC10-02 Lo 59.5 R1/4 10 18.5 17
a RENHRC10-03 60 R3/8 10.5 18.5 17
" RENHRC10-04 61.5 R1/2 12 18.5 21
RENHRC12-01 60 R1/8 7.5 21 17
RENHRC12-02 62.5 R1/4 10 21 17
RENHRC12-03 12 63 R3/8 10.5 21 17
RENHRC12-04 64.5 R1/2 12 21 21

267



P ARSIN R R
I RENHRL iEH %58
DRI

RENHRL04-M5 29.5 19.5
RENHRLO04-01 4 33 19.5 R1/8 7.5 13 12
RENHRL04-02 35.5 19.5 R1/4 10 13 14
RENHRL06-M5 29.5 20 M5 4 13 8
RENHRL06-01 33 20 R1/8 7.5 13 12
RENHRL06-02 6 35.5 20 R1/4 10 13 14
RENHRL06-03 38.5 21.5 R3/8  10.5 15 17
RENHRLO06-04 40 21.5 R1/2 12 15 21
18.14 RENHRL08-01 35.5 22 R1/8 7.5 15 14
/ P RENHRL08-02 . 38 22 R1/4 10 15 14
f EIE RENHRL08-03 38.5 22 R3/8  10.5 15 17
b - RENHRL08-04 40 22 R1/2 12 15 21
© RENHRL10-01 39 26 R1/8 7.5 18.5 17
8 RENHRL10-02  ;,  41.5 26 R1/4 10 18.5 17
g RENHRL10-03 42 26 R3/8  10.5 18.5 17
H RENHRL10-04 43.5 26 R1/2 12 18.5 21
3 R RENHRL12-01 41 28 R1/8 7.5 21 17
RENHRL12-02 ., 43.5 28 R1/4 10 21 17
RENHRL12-03 44 28 R3/8  10.5 21 17
RENHRL12-04 45.5 28 R1/2 12 21 21
I REPA i =
zh
=
— IEEEENENEE |
RS dDX2 dPX2 E
ﬁ% REPA-04 39.5 5
p N o REPA-06 6 46 39 13.5
@ @ 4 REPA-08 8 50 39 16.5
5{ I B jﬂ REPA-10 10 60 45 19.5
‘ ‘ REPA-12 12 63 47.5 21.5

\ 38.75 |

| REHVFF Fi@

--

REHVFF-04 45.5
® ® REHVFF-06 6 46.5 40 13
8 = S REHVFF-08 8 50 42.5 15
s 7|
25 o= REHVFF-10 10 60.5 42.5 18.5
‘ ‘ REHVFF-12 12 63.5 44.5 21

38.42 ‘

268



P ARSI

I REHVSS BHFiR

I REPM RiREE

| REPLM [RIRZE

I REPU EHiE

269

20.20

REZLRT

6.00

28.00
=

10.60

y
I
«

31.78

12.00

28.00

l
\

IIIIIIE%I!IIIIIIIHIIIIHIIIIHIIIIIIIIIIIIIIH!IIIEIIII!I

REHVSS01-01
REHVSS02-01
REHVSS02-02
REHVSS03-02
REHVSS03-03
REHVSS04-03
REHVSS04-04

R1/8
40 R1/4
42.5 R1/4
42.5 R3/8
42.5 R3/8
42.5 R1/2 10
44.5 R1/2 10

14
14
17
17
21
21

R1/8
61 R1/8
66 R1/4
76 R1/4
77 R3/8
78.5 R3/8
82.5 R1/2

© ©W© o o

12
14
17
17
17
21

IIIII%IIIIIIIIHHHIIIIIIIIIIIIIHIIIIIIMIIIIIIIIII

REPM-04
REPM-06
REPM-08
REPM-10
REPM-12

28.5
6 3.5
8 33,5
10 37
12 40

10
11
12
14

M12X1
M14X1
M16X1
M20X1
22X1

17
19
24
27

IIIE!EIIIIHHHIIHHHIIIHIIIIIIIIIIIIIIH!IIHHIIIIII

M12X1
M14X1
M16X1
M20X1
M22X1

TPLM-04
TPLM-06
TPLM-08
TPLM-10
TPLM-12

10
12

36.5
6 40.5
8 43.5
10 48.5
17 | 50,5

20
22
26
28

17
19
24
27

15 13
17 15
21 18.5
24 21

IIIII%IHIIIIIIIIIHHH!IIIIIIIIIIIIIIIIIIHHEEIIII

REPU-04
REPU-06
REPU-08
REPU-10
REPU-12
REPU-14
REPU-16

10
12
14
16

35,5
37,5
44
47.5
49
53.5

13
15
18.5
21
23
25.5



PARSIN BRIk R
I REPV LEZE
o e e o

‘ REPV-04
/ m REPV-06 6 20 13
J'H REPV-08 8 22 15
o ©®) REPV-10 10 26 18.5
REPV-12 12 28 21
—— REPV-14 14 30.5 23
by REPV-16 16 33 25.5
12

| REPE T2 =&

12
REPE-04
@ REPE-06 6 40 13 20
‘H REPE-08 8 44 15 22
@ REPE-10 10 52 18.5 26
J—L REPE-12 12 56 21 28
(O: REPE-14 14 62 23 31
REPE-16 16 66 25.5 33
18 !
) " zh
1%
I REPY YE!I=3E 3
115 '%
L el | =) $DX3 P X3 5l
T T T T
REPY-04 33.5
REPY-06 6 36.5 13 13
5 REPY-08 8 41.5 15 15
3 )j\ REPY-10 10 45.5 18.5 18.5
REPY-12 12 48.5 21 21
REPY-14 14 54 23 23
— REPY-16 16 58 25.5 25.5
6.84
12.84
I REPZA +xmiE
12.00
6.00
E=—— -
= REPZA-04
< @ REPZA-06 6 20 13
W REPZA-08 8 22 15
m REPZA-10 10 26 18.5
@ REPZA-12 12 28 21

270



ARSI PRIk R

I REPKEE

-_

REPK-04 17.5
REPK-06 6 66 13 195
I REPK-08 8 75 15 22.5
N|(©
2t REPK-10 10 87 185 24.5
| REPK-12 12 99.5 21 27.5
\
| REBUCEiT
23.28
ol= REBUC-04 55.5 23.5
It - REBUC-06 57 23.5 35 6 18
o
ik 'QIE REBUC-08 57 23.5 35 8 18
REBUC-10 69 27 4 10 24
38.52 | REBUC-12 70 27 42 12 24

I REPPERE
B T S —)
REPP-04 30.5
(<2}
;; REPP-06 315 17
3 REPP-08 33.5 18
N REPP-10 415 24 10
REPP-12 43 25 12
10.35
A

I REPGEHBER

=== REPG06-04 4
REPG08-06 6 375 15
REPG08-04 4 37 15
2 REPG10-08 10 8 44 18.5
13 REPG10-06 10 6 435 18.5
REPG12-10 12 10 475 21
REPG12-08 12 8 46.5 21
I ——— REPG12-06 12 6 46 21
PREIN REPG14-12 14 12 48 23
14.82 REPG14-10 14 10 48 23
REPG16-14 16 14 525 25.5
REPG16-12 16 12 52 25.5

271



P ARSI

REZKLRT

I REPEGTR=ELR

12
AN
e —
* O
(3- [ |
O
E——
18
IREPWYR=BZETR
11.50
KN

30.87

| REPKDB G REEZ

REPEG06-04
REPEG08-06
REPEG08-04
REPEG10-08
REPEG10-06
REPEG12-10
REPEG12-08
REPEG14-12
REPEG14-10
REPEG16-14
REPEG16-12

8
8
10
10
12
12
14
14
16
16

o o b~ O b

12
10
14
12

44
44
52
52
56
56
62
62
66
66

15
15
18.5
18.5
21
21
23
23
25.5
2543

21.5
21
25
25
213
26.5
30
30
325
32

TPW06-04
TPW08-04
TPW08-06
TPW10-06
TPW10-08
TPW12-08
TPW12-10
TPW14-10
TPW14-12
TPW16-12
TPW16-14

4o
40.5
44
445
47
475
53
53
56.5
57

15
15
18.5
18.5
21
21
23
23
2543
255

15
15
18.5
18.5
21
21
23
23
253
25,3

REPKD04-M5
REPKD04-01
REPKD04-02
REPKD06-M5
REPKD06-01
REPKD06-02
REPKD06-03
REPKD06-04
REPKD08-01
REPKD08-02
REPKD08-03
REPKD08-04
REPKD10-01
REPKD10-02
REPKD10-03
REPKD10-04
REPKD12-01
REPKD12-02
REPKD12-03
REPKD12-04

4

10

12

61.5
65
66
69

123

73.5

74.5
76
82
83
84

85.5
93
94
95

96.5

105.5

106.5

107.5
109

NS
17.5
17.5
19.5
19.5
19.5
19.5
95
22.5
22.5
22.5
22.5
24.5
24.5
24.5
24.5
27.5
275
21>
27.5

11
11
13
13
13
13
13
15
15
15
15
18.5
18.5
18.5
18.5
21
21
21
21

7
8
BiS
7
8
9
10
7
8
9
10
7
8
9
10
7
8
9
10

Rl/8
R1/4
M5
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2
R1/8
R1/4
R3/8
R1/2

10
14
12
12
14
17
21
14
14
17
21
17
17
17
21
19
19
19
21

272

q
)]
=
*
ES
5




